3. WF50mBE/AE (CH/L—7)

BRI K& FR4 PE M 00— Z(4L 8BS
1 & ¥E EHNERK 6 4 3 3292 7
2 A X IER 6 4 2 3360 5
3TEHE 22Xk  WIER 5 1 2 3432 4
4R Aad BENERK 5 1 4 35.07 3
5B Wn BIEFIER 6 3 2 3536 2
6 HF Tk  HBENAER 6 3 3 3638 1
=M HSO AEBERNER 5 2 5  37.05
ME = JNIB/INF R 6 3 5  37.11
R E JI BN 6 4 4 3847
Al FIE  PRAFER 5 2 4 38.70
L 2 EENER 5 2 1 39.15
Hep e FERAENER 6 4 6  40.06
T8 OER  BHRNFK 5 1 5  44.80
B BRTE BN FER 6 4 5  45.22
2 B8R EENANER 5 1 3 5216
AEH EBR KABBNER 6 3 4 1:02.36
DNS #& #HX Z==ANIFER 5 2 2
DNS BE ZE JIBIFER 5 2 3



